Functional Analysis Professor S. Kesavan Department of Mathematics The Institute of Mathematical Sciences Lecture No. 66 Riesz-Fredholm Theory – Part 2

(Refer Slide Time: 00:42)



We are in the middle of the proof of the Fredholm alternative, so we have shown that if T is a compact perturbation of identity then the N(I - T) is finite dimensional and R(I - T) is closed. Now, we come to the important property which is really a finite dimensional property namely I - T is 1-1 if and only if it is onto.

This is part (c). Assume $N(I - T) = \{0\}$ that is I - T is injective. Assume if possible that $V_1 = R(I - T) \subset V$. So, $V_1 \neq V$, we have to get a contradiction. So, V_1 is closed, implies it is a Banach space in its own right, if $x \in V$, then you have T(x - Tx) = (I - T)Tx. So T of something in V_1 is again in V_1 because this again in the R(I - T), so this implies $T(V_1) \subset V_1$ and V_1 is a Banach space, it is compact and therefore it also has closed range, therefore I - T has a closed range. Let $V_2 = (I - T)V_1$, then V_2 will also be strictly contained in V_1 , i.e., $V_2 \subset V_1$, if not $\forall x \in V$, $(I - T)x \in V_1$ and if you assume that $V_1 = V_2$ implies $\exists y \in V$ such

that $(I - T)x = (I - T)^2 y$, because $(I - T)x \in V_1$, it should be the image of something, it should be in V_2 , V_2 is nothing but $(I - T)^2 y$. And then (I - T) is injective implies that $x = (I - T)y \Rightarrow x \in V_1$ i.e., $V = V_1$. This is a contradiction, because we are assuming V is strictly bigger than V_1 , thus $V \supset V_1 \supset V_2$. So, inductively we proceed like this, and get a sequence of closed subspaces V_n and you have $V \supset V_1 \supset V_2 \supset \ldots \supset V_n \supset \ldots$ this should not end because at any stage if it ends then you will get $V_1 = V_n$.

(Refer Slide Time: 04:58)

	· · · · · · · · · · · · · · · · · · ·	
لات تيا ۲۸۰	V. Ving projent subp of Vn.	NPTEL
Riesz' Lemma	∃ un eVn nun K=1 e d (un, Vn+) 7	炬.
Ν ₆₄₀ , - Цу η 7 Μ - Цу η 7 Μ - Т	$ \begin{array}{c} (u_{n} - \overline{1}u_{n}) = (u_{m} - \overline{1}u_{m}) + (u_{m} - \overline{u}_{m}) \\ & \in V_{nH} \end{array} \\ V_{nH} \subset V_{n} \subset V_{mL} \subset V_{mL} \\ V_{nH} - \overline{1}u_{n}) \geq b_{2} \\ \hline \end{array} $	()
Riesz' Lenne Now, Thum-4, ?	$\frac{\partial (u_n \in V_n u_n = 1 e d(u_n, V_{n_n})}{(u_n^{-7}u_n) - (u_m^{-7}u_m) + (u_m^{-7}u_m)}$	7 1/2 . -4 n) NOT 6 4 n .
	Vnt CVn CVmt CVm.	
	n-un) = un - ur w c Vmf	
1	[um -] un 1) ≥ 1/2.	
zunz bal	STU, 3 does not have a Cou	duz subacy. X
<pre></pre>	VIEN ie R(IT)=V.	U
в 3. Q. () знаят-пака.		

So, we have $V_n = (I - T)^n V$. V_{n+1} proper closed subspace of V_n . By Riesz lemma, there exists $u_n \in V_n$ such that $||u_n|| = 1$ and $d(u_n, V_{n+1}) \ge 1 - \epsilon = 1/2$ taking $\epsilon = 1/2$. Now $T(u_m - u_n) = (u_n - T u_n) - (u_m - T u_m) + (u_m - u_n)$, let n > m.

Note, $(u_n - T u_n) \in V_{n+1}$

$$(u_m - T u_m) \in V_{m+1}, \quad V_{n+1} \subset V_n \subset V_{m+1} \subset V_m, \text{ therefore } (u_m - u_n) \in V_m.$$

Therefore you can write $T(u_m - u_n) = u_m - w$, $w \in V_{m+1}$. If you look at where all it belongs and these inclusions and therefore so from these two it follows that $w \in V_{m+1}$. Therefore, $||Tu_m - Tu_n|| \ge \frac{1}{2}$. What does this imply? $\{u_n\}$ is bounded as $||u_n|| = 1$ and $\{Tu_n\}$ does not have a Cauchy subsequence, which is a contradiction to the fact that T is compact. And therefore, this implies that $V_1 = V$ that is R(I - T) = V. So, if it is 1-1 then it is in fact onto. So, now we have to claim the other one.

(Refer Slide Time: 08:34)

RETI = NETT) => RETIL has fin. adding, d. =) It is conferented. Let W be a d' dink conferent to アロニテ)、 Since A < d' Larsungtion) I can't lin map N: NG.T) -> W which is injective but ason surjective.

Conversely let R(I - T) = V, so it is onto we have to show that it is one-one. Then $N(I - T^*) = R(I - T)^{\perp} = V^{\perp} = \{0\}$. Now *T* compact we know this implies that T^* is compact and it is 1 to 1 and therefore by earlier argument we have $R(I - T^*) = V^*$. And this implies that $N(I - T) = R(I - T^*)^{\perp} = \{0\}$. So, that completes the proof of this part.

Now, for the last part, so we want to show that $d = \dim(N(I - T))$ and $d^* = \dim(N(I - T^*))$ to show $d = d^*$. Assume $d < d^*$, so N(I - T) is finite dimensional implies complemented implies there exists a continuous projection $P: V \to N(I - T)$. Now, R(I - T) is $N(I - T^*)^{\perp}$, so this implies that R(I - T) has finite codimension d^* . And therefore it is complemented again we have seen these things before, so let W be d^* dimensional complement to R(I - T). Now, since $d < d^*$ (assumption) there exists a continuous linear map $\Lambda: N(I - T) \to W$. These are both finite dimensional spaces so you can see that any linear map is continuous, which is injective but not subjective. You cannot have a subjective map because W has smaller dimension than N(I - T) and therefore there you can have a map which is injective but not subjective.

(Refer Slide Time: 12:47)

 $S = T + \Lambda P$ 562(V) Depie T compact, No P finite ronk =) S compact Lat well u-Su=0 (u-in) - APu =0 EW ERLIJ) =) u-Tu=0, NPu=0. => u= N(I-T) Pu=u 1 in => Au = 0 4=0 EW ERLI=) =) u-Ju=0, NPu=0. => u= N(I-T) Ainj. I-S inf Scorpact Lug(c) R Q-S) = V \$ Let few(RIA) Juev ~ - 5~ = f. (u-Tu) - Mu=f Du-in 6 W =) f EQ(M) X

Define $S = T + \Lambda \circ P$. So, *T* is a map from *V* into itself, *P* goes from *V* to the null space and Λ goes from null space into *W* and therefore $S \in L(V)$. And *T* is compact and $\Lambda \circ P$ is of finite rank because its range is inside *W* which is finite dimensional and therefore compact. Therefore, sum of compact operators is compact, so *S* is also compact. Let *u* be such that u - Su = 0. If you expand that $(u - Tu) - \Lambda P u = 0$, $(u - Tu) \in R(I - T)$ and $\Lambda P u \in W$ which is the complement of R(I - T) and therefore this is a direct sum therefore you have written the 0 vector as a sum of one in R(I - T) and other in *W*, so each of them has to be 0. This implies that u - Tu = 0 and $\Lambda P u = 0$. So, this implies that $u \in N(I - T)$, so this implies that

 $P u = u \Rightarrow \Lambda u = 0 \Rightarrow u = 0$ because Λ is injective. And consequently, you have that I - S is injective, S compact, so by (c) R(I - S) = V. So, let $f \in W \setminus R(\Lambda)$ as we know that Λ is not subjective into W and therefore you can find an f which is not in $R(\Lambda)$. So, now it is. I - S is onto so there exists a $u \in V$ such that u - Su = f. So, once again let us write that $(u - Tu) - \Lambda Pu = f$. Again, $(u - Tu) \in R(I - T)$ and $\Lambda Pu \in W$ and therefore again by the direct sum decomposition you have that now $f \in W$ this implies that $(u - Tu) \in W$ and it also belongs to the R(I - T) and they are complementary spaces this implies that (u - Tu) = 0 and this implies that $f = -\Lambda Pu \Rightarrow f \in R(\Lambda)$ but that is a contradiction because we have chosen f not to be in the range. So, we have a contradiction all over and therefore and that started from the fact that $d < d^*$.

(Refer Slide Time: 17:10)



So, this implies that $d^* \leq d$. Now, similarly $\dim(N(I - T^{**})) \leq \dim(N(I - T^*)) = d^*$. Now, if $J: V \to V^{**}$ is the canonical embedding, then $J(N(I - T)) \subset N(I - T^{**})$. This very trivial checking all you have to do is to find $(I - T^{**}) Jx$ and then apply the definition of T^{**} which and use the adjoint equation every time and then you will get that $N(I - T^{**}) = \{0\}$. Therefore J is isometric isomorphism so the dimension of the space J(N(I - T)) is precisely d i.e., $d \leq d^*$. And therefore, this implies the $d = d^*$ and the theorem is completely proved.

Remark. We proved that I - T, T compact, implies, one-to-one if and only if onto. But this is not generally true for any operator in the Hilbert space as you have already seen you take $Tx = (0, x_1, x_2, \ldots), x = (x_1, x_2, \ldots)$, then T is one-to-one but not onto.

(Refer Slide Time: 19:54)

Rem. Fredhielos alternating. V Banach TEd(V) Couped. - either the equation was a la soly the zero som and so the equation w-in= f has a unique K Born. Y fEV. - or u-Tu=o has I ind solve. Then u-iu= of has a roter. if and only if it notisfies a - compatibility conditions 6/10 > Q O 15 Nov 18:37-15 Nov 18:44 som. and so the equation w-in-if has a unique ()Born. YfEV. - or unived has I ind solve. Then u-iu= I has a som. if and only if it notisfies a - compatibility conditions + + N(I-7)

So, in finite dimensional spaces we also always have that, see in finite dimensional spaces is difficult to talk about the null space, dimension of the null space whereas the dimension of the range is nothing but the number of linearly independent columns and the dimension of $R(T^*)$ is nothing but the number of linearly independent rows. So, you can say that the row rank is the column rank, But then, by the rank nullity theorem we automatically get that the dimensions of the null space also coincide. Now, in infinite dimensions it is difficult to talk about the dimension of the range, because they are all infinite-dimensional, so there is no point in saying they are equal, they are both infinity, so where as the null spaces are finite dimensional and that is why we state the theorem in this fashion.

Remark: The Fredholm alternative, why do you call it an alternative? We saw V Banach space and $T \in L(V)$ is compact. So, one of the alternatives holds either the equation u - Tu = 0 has only the 0 solution and so the equation u - Tu = f has a unique solution for every $f \in V$, so this is one alternative; or u - Tu = 0 has d independent solutions, then u - Tu = f has a solution if and only if it satisfies d-compatibility conditions namely $f \in N(I - T^*)^{\perp}$. So, this is a d-dimensional space so it is being in the orthogonal means it should vanish on each one of the basis elements here therefore it will vanish over the entire space and therefore you have the fmust be in this it should satisfy d-compatibility conditions. So, that is the reason why you have this.

(Refer Slide Time: 23:26)



Remark: In finite dimensions, for instance, if you have dim V = n, so you have $A: V \to V$ some matrix which generates an operator, let us work with the real space for the or does not matter what we working with. So, we want to look for solution of Ax = b, to solve *n* linear equations in *n* unknown, (actually you can do it even for rectangular matrices when $V \to W$ it does not matter, we will do it in this case). so let us assume that $A^* y = 0$. $(y, b) = y^T b$.

Then $y^{T}Ax = (y, Ax) = (A^{*}y, x) = 0$, this means that if you have a solution to Ax = b, then a necessary condition is that $b \in N(A^{*})^{\perp}$. $R(A) \subset N(A^{*})^{\perp}$, so this means that the dim $R(A) \leq \dim N(A^{*})^{\perp} = n - \dim N(A^{*}) = \dim R(A^{*})$. So, dim $(R(A)) \leq \dim R(A^{*})$ and if you apply it to A^{*} , you have dim $(R(A^{*})) \leq \dim(R(A^{**}))$ but, A^{**} is the same as A. And therefore, you have this and precisely, you have dim $(R(A)) = \dim(R(A^{*}))$. And this is saying the row rank is the same as column rank in the real case, in the complex case it says same column rank of the conjugate transpose, but conjugate transpose and transpose have the same column rank and therefore its dimension, so row rank equals column rank. That is this theorem. And also by the rank nullity theorem this shows the dim $(N(A)) = \dim(N(A^{*}))$. And we have also proved because you have $R(A) \subseteq N(A^{*})^{\perp}$ and both have the same dimension and therefore this also implies that $R(A) = N(A^{*})^{\perp}$. So, all the theorems we proved in just two lines using these arguments. (Refer Slide Time: 26:59)



Remark. Riesz-Fredholm Theory is the starting point of the study of Fredholm operator, so Fredholm operator $A: V \to W$ Banach spaces, is such that $\dim N(A) < \infty$, co-dimension $(R(A)) < \infty$, then it is called Fredholm operator and you call $i(A) = \dim N(A) -$ co-dimension(R(A)) is the Fredholm index. If A = I - T compact perturbation of identity, V = W then it is a Fredholm operator with, i(A) = 0. So, that is the theorem which we have proved. So, this is a very important concept in operator theory.